
Ú
lohy

ke
cvičen

í

Ú
loha

1:
R
o
zh
o
d
n
ěte,
k
teré
z
n
á
sled
u
jících

tv
rzen
í
je
p
rav
d
iv
é:

a
)
P
ravděpodobn

ost,
že
při
hodu

d
v
a
ceti
kostkam

i
padn

ou
n
a
alespoň

desíti
kostkách

alespoň
čtyři

oka,
je
jedn
a
polovin

a.

b
)
P
ravděpodobn

ost,
že
při
hodu

d
ev
a
ten
á
cti
kostkam

i
padn

ou
n
a
alespoň

desíti
kostkách

alespoň
čtyři

oka,
je
jedn
a
polovin

a.

S
v
é
ro
zh
o
d
n
u
tí
zd
ů
v
o
d
n
ěte.
L
ze
u
rčit
v
ý
sled
ek
b
ez
v
ý
p
o
čtu
p
rav
d
ěp
o
d
o
b
n
o
stí?

Ú
loha

2:
K
ra
b
ice
d
řev
ěn
ý
ch
d
ětsk
ý
ch
v
lá
čk
ů
o
b
sa
h
u
je
jed
n
u
lo
k
o
m
o
tiv
u
a
tři
v
a
g
ó
n
k
y.
V
a
g
ó
n
k
y
a

lo
k
o
m
o
tiv
a
se
sp
o
ju
jí
p
o
m
o
cí
m
a
g
n
etů
.
L
o
k
o
m
o
tiv
a
m
á
jed
en
m
a
g
n
et
a
k
a
žd
ý
v
a
g
ó
n
ek
d
v
a
—
p
o

jed
n
o
m
n
a
o
b
o
u
k
o
n
cích
.

a
)
S
ja
k
o
u
p
rav
d
ěp
o
d
o
b
n
o
stí
b
y
v
lá
ček
d
ržel
p
o
h
ro
m
a
d
ě
v
d
a
n
ém
p
o
řa
d
í
(v
a
g
ó
n
k
y
n
elze

o
tá
čet

a
n
i
p
řem
isťov

a
t),
p
o
k
u
d
b
y
v
tov
á
rn
ě
o
rien
ta
ci
m
a
g
n
etů
p
řiřa
zov
a
li
n
á
h
o
d
n
ě?

b
)
S
ja
k
o
u
p
rav
d
ěp
o
d
o
b
n
o
stí
b
y
se
d
a
l
sestav

it
v
lá
ček
s
v
a
g
ó
n
k
y
v
a
lesp
o
ň
jed
n
o
m
p
o
řa
d
í
(v
a
g
ó
n
k
y

lze
o
tá
čet
i
p
řem
isťov

a
t),
p
o
k
u
d
b
y
v
tov
á
rn
ě
o
rien
ta
ci
m
a
g
n
etů
p
řiřa
zov
a
li
n
á
h
o
d
n
ě?

c)
S
ja
k
o
u
p
rav
d
ěp
o
d
o
b
n
o
stí
b
y
se
d
a
l
sestav

it
v
lá
ček
s
v
a
g
ó
n
k
y
v
k
a
žd
ém
p
o
řa
d
í
(p
ro
zv
o
len
é

p
o
řa
d
í
je
d
ov
o
len
o
v
a
g
ó
n
k
y
o
tá
čet),

p
o
k
u
d
b
y
v
tov
á
rn
ě
o
rien
ta
ci
m
a
g
n
etů
p
řiřa
zov
a
li
n
á
h
o
d
n
ě?

Ú
loha

3:
U
h
ra
cí
k
o
stk
y
s
n
stěn
a
m
i
o
číslov

a
n
ý
m
i
1
,...,n

,
k
d
e
k
a
žd
é
číslo

m
á
stejn

o
u
p
rav
d
ěp
o
-

d
o
b
n
o
st
h
o
d
u
1n
,
u
v
a
žte
jev
y
:

A
—
p
a
d
lo
su
d
é
číslo

B
—
p
a
d
lo
číslo

v
ětší
n
ež

n2
.

R
o
zh
o
d
n
ěte,
zd
a
li
jso
u
ty
to
jev
y
záv
islé
či
n
ezáv
islé
a
to

a
)
p
ro

n
=
6
,
ted
y
p
ro
k
la
sick
o
u
k
ry
ch
li,

b
)
p
ro

n
=
8
,
čili
p
ro
o
sm
istěn

c)
p
ro
o
b
ecn
é
n

Ú
loha

4:
N
ech
ť
π
je
n
á
h
o
d
n
á
p
erm
u
ta
ce
m
n
o
žin
y
čísel

1
,2
,...,1

0
0.
N
ech
ť
A

i
je
jev
v
y
ja
d
řu
jící,
že

π
(i)
=

i.
J
so
u
jev
y
A
1
a
A
2
n
ezáv
islé?

Ú
loha

5:
V
a
šek
třik
rá
t
h
o
d
il
sp
rav
ed
liv
o
u
šestistěn

n
o
u
k
o
stk
o
u
.
P
a
d
l
m
u
so
u
čet
h
o
d
ů
rov
n
ý
7
.

a
)
J
e
p
rav
d
ěp
o
d
o
b
n
ější,

že
m
u
v
p
rv
n
ím
h
o
d
u
p
a
d
la
jed
n
ičk
a
n
eb
o
d
v
o
jk
a
?

b
)
J
a
k
á
je
p
rav
d
ěp
o
d
o
b
n
o
st,
že
m
u
v
p
rv
n
ím
h
o
d
u
p
a
d
la
d
v
o
jk
a
?

Ú
loha

6:
V
zá
b
av
n
ém
p
o
řa
d
u
L
et’s
M
ake
a
D
eal
n
a
b
ízel
m
o
d
erá
to
r
M
o
n
ty
H
a
ll
v
ý
h
ru
p
o
d
n
á
-

sled
u
jícím

i
p
rav
id
ly
:
V
ý
h
ra
—
a
u
to
m
o
b
il
je
sch
ov
a
n
á
za
jed
n
ěm
i
ze
tří
d
v
eří.
Z
a
zb
y
lý
m
i
d
v
ěm
i

je
cen
a
ú
těch
y
—
k
o
za
.
H
rá
č
n
ejp
rv
e
n
a
n
ěk
teré

d
v
eře
u
k
á
že.
M
o
d
erá
to
r,
k
terý

v
í
k
d
e
se
sk
rý
v
á

v
ý
h
ra
,
o
tev
ře
z
o
sta
tn
ích
d
v
eří
ta
k
ov
é,
že
je
za
n
im
i
v
ý
h
ra
n
en
í.
V
této

situ
a
ci
m
á
h
rá
č
o
tev
řít

jed
n
y
ze
zb
y
lý
ch
d
v
o
u
d
v
eří,
a
b
y
d
o
sta
l,
co
se
za
n
im
i
sk
rý
v
á
.

J
e
p
ro
h
rá
če
v
ý
h
o
d
n
é
zm
ěn
it
n
á
zo
r
a
o
tev
řít
jin
é
d
v
eře,
n
ež
n
a
k
teré
p
rv
e
u
k
á
za
l?

Ú
loha

7:
M
ějm
e
n
á
h
o
d
n
o
u
p
o
slo
u
p
n
o
st
sta
čísel,

k
d
y
k
a
žd
é
číslo

v
p
o
slo
u
p
n
o
sti
je
0
n
eb
o
1
a
o
b
ě

m
o
žn
o
sti
n
a
stáv
a
jí
s
p
rav
d
ěp
o
d
o
b
n
o
stí
1
/
2
n
ezáv
isle
n
a
o
sta
tn
ích
člen
ech
p
o
slo
u
p
n
o
sti.
U
rčete

střed
n
í
h
o
d
n
o
tu
p
o
čtu
p
o
so
b
ě
jd
o
u
cích

šestic
jed
n
iček
.
(P
o
p
ř.
zo
b
ecn
ěte
p
ro
p
o
slo
u
p
n
o
sti

n
čísel

a
p
o
so
b
ě
jd
o
u
cí

k
-tice

jed
n
iček
.)

Ú
loha

8:
M
ějm
e
n
á
h
o
d
n
o
u
p
erm
u
ta
ci
n
p
rv
k
ů
.
U
rčete

střed
n
í
h
o
d
n
o
tu
p
o
čtu
p
ev
n
ý
ch
b
o
d
ů
ta
k
ov
é

p
erm
u
ta
ce
(tj.
p
o
čet
p
rv
k
ů
i
ta
k
ov
ý
ch
,
že

π
(i)
=

i,
je-li

π
o
n
a
n
á
h
o
d
n
á
p
erm
u
ta
ce).


